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TYte frgures in the margin indicate fwll marks
far the questions

1. Ere fr$ ft"sgr<lffi 'm cfrs ffit ilqfr GT : Lx6=6
ehoose the correct answer from the follow"ing
aJternatives :

{a) :FFrdrr c$Qr qj<i<'l-<sF GrnTq qqlr csFr#Fr
ry1a p\ ?

The surn of frequencies of altr classes will
always equal to

ft) I
fril Eqlrq {REE 1{CsEl'"K cr$T

ttle number of observations in the
rlata set
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(ril) G$?ilq Tisqfi

the nrunber of classes

(ru) 0 !ff+ 1 q $qs erfi qtl nFr

a value tretween O arrd i

{bl q'q1gE qlql, 'tBc6llg{ ql{i qrs q{m'+ !i(T< r'5e
\-' 

er+t ,ffi-+ q*"r4fi <{& -sfrsfi I

Choose the correet retrationship ber*'een

arlt]rrnetic mean (AN{}' Eeome-iric mearl

tOOnt *"4 harmcnic rnean GIM)

(c)

{t} AM } GIvI > HM

{i1,} HM>GM>AM

fiil GMIAM>HM

{ul sqiK ,{tle;R{
None of the above

{iq1q frem Xf$ ffii{
The first mornent about lnean is alw4vs

(L) 1

(ii) o
('[r, firs4

Positive

filrl q.[lq{

negative
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(d.) SIu.E+q qrqE E-*'r6 u'(T{rd F<6 <rfi ffifus
ffiT{61ttTq- rq{ t
\[r$rieh of the following is not appropriate
for studying the relationship behveen
two

{t)

Seatter piot

fril "re ftq
Bar plot

fiul q'q{tiq

Correlation

{aul aqET"l

Regression

{e} naxffi' €TIltF r < E-i qTtT

The value of correlaricn coefficient r lies
between

{L) OqI+ 1<.BFE
0and1

r,'ariables?

sfr.( Sq

$q -1eFF +18 fus
-1 aad +1

. {iii} -l qFr o<fu
-1 and O

M a lcFF +ll k\9-
O and +1
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$) x"qi.qaflftre isFr#K cqH?
Priee retrative is equal to

ufrs<{<vslH ffi-*lft-x I00

price in the given vear .. r ,r^rexl.u()
f*=ft Edq {"il(rL) -:e:_-.zi- x 100
b-r4'rEs{.-{W
price in the base vear

FfrceinTEegven year x 1oo

{+}

ufr*q{*Tn x 1oo
price in the given year x 100

ftk <t'q{el x loo
price in the base year x tr00

(iil)

{nt

2. sqs ftt s$q{q{ frftg e-sE frqn i 2x6=tr2
Answer the foilowing questions !n brief :

(a) tqtq<"K tqcs srRlt$ qrs eftq €*sfr-q ryiqu
trcfsT ft1l I

Distinguish between primary a.nd
secondary data with examples.

(b) c<tfta .:stur qrr,'f qftqpr{ tEftftrygt fl,"r* r

State the characteristics of an ideal
measltre of central tendency.
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(c) ffit< EIEI <1-a-?13 <rn fr fr ffi*q-{ r

What are the requisites of a good

measure of disPersion?

(d") qTERal cfl{t fu TEI-q 
qrre, fl{jl T-{l I

Explain why there are two lines of

regression.

{e) "2013 Hs &ft <d fuiz"t d zat+ 5{E Tqi

{rfqT 125." fi1ffirE q{fr'{t t

"Index number of prices for 2O14 taking
2013 as base 1'ear is 125." Write the

meaning of the sraternent.

(fi '!m avnrq< tzcq eeff{fu 61q'ffffi 1"

fr-{ech qE w I

"Index numbers are economic

barometers." Elucidate the statennent'

3" bqf<f< hIe t,re .xf+ ffimqelu iscff{ {l-qq

flTd+T fr<l L {fu"q,.€ -EeF IRqPK <K{ <r<?N

665 o1ft*t F4FT ft fr r eq-e Bqr$(.fe.q

Ei'Fm r-{I I sqF 'sl.lq.'€l rfue ft Tqf :
2+1+5+1=9

Differentiate between qualitative and
quantitative data w"ith exar:nples. What

are the different measun'ement scales

used for measuring quantitative data?

Explain with suitable examples" What

do you mean bY tabr-llation of data?
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(b) )Fn"{ csqF{ q's{r6TE ffiGts fr,eflq{ fi'{.f rrFfl.f

T?{I I qS{ ?tQ-dsr qm fr ? A qr+ B .ft, th
€6[<t TsE-e-lT <rfr .{h qFtqs ff$ 1 4+2+3=g
Explain the construction of histogram in
respect of equal class intervals. What do
you mean by independence of attributes?
Give a criterion for the independence of
two attributes A and B.

4. vryc furqr{ "m fr 6fl[,{r $t a:Fr be-q ftqr :

5x2=LO
Answer any hw questions from ttre following :

(a) qfftT$t q<F Tqrypir rqBr ft{r r qfrkE EcE{

ffiEs dfq. $'r Ia 6a?nts str\arfqlt F{I Eq,
<]I?trt T-iil [

Define median and rnode. Explain how
these hvo measures are calculated in
case of grouped data"

{b) frq{q w+ frq+w €6rtreerFr cqHF tsrmr
ft r RF,vE gr<ffiffi qgfuIT, an.h sRqtq ftfu
c@ \ryisq s"EI ql.s- Est-F gfut 6s'sre Elrfi,
q{J{r cr+ T{61-s{ q1rfifts ftE cqr{sffi !

Ef+r+r< ft: p+z+t=,5
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What are the objectives of rneasuring
the dispersion and coefficient of
dtspersion? Draw different sketches to
exhibit the different t)?es of skewness
and also indicate roughly the relative
position of mean, median and n:ode in
each of the cases. What are mornents?

(c) $r -+pt< eqT#rs 1o0tT T€ qiiq qK 5r9 15
qFr qws fiprE s. qF on'61 crflArBirc 2sobr
T{t qzq qr{ fl-s 15.6 qFF qFrs &IlG
^lTg44, frCr (qt?< :rTs @ ffi{
G.ftsqt r

The first of the two samples has
i00 items with mean 15 and standard
deviation 3. If the u,"hole group has
250 items with mea_n 15"6 and s.d.
.iT3.44, find the standard deviation of
the second group.

s. Eflo ftfleqlffi T<t rt c€rzEl EA g,fK GEq frqr ,

6x2=L2
Answer any'fitn questions frorn the following :

(a) sft.f fu 1fuE ft TqT? qq frq< ,erc $r
UFFF-{ qrqT Tq{F (seqrS q$-T{ <i'qI ES? 2+4=6
What do you mean tly a scatter
diagram? How is the correlation
between two variables studied urith the
hetrp of this diagram?
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(c)

6. (a)

klt-r qql?sqq< ffiqK"flrB3 fr ft r
Y = 5 +2. EX lqfs X * B -O.Sy nfr+et $rc
xE ,€?K-s y qls yq €q<s x qTTq[Frr
qq${q qfi-fiq q'< o11f+Cqt 2+4=6
Wha-t are the assumptions made
in linear regression model? Can
Y=5+2.8X and X=3-O.5y be the
estimated regression equations of Yon X
and Xon Yrespective\r?

tsr$T{ Ary6F qt$r$ ql<p <qsq {qr,rrq-{ qrqq
,Tt{sI B"ffi <!E?il I y =a*bx+cr2 +{E frfr*
ft$ 6rr{-6qqt ftB <mt, q's a, b qrs c Efi<e I

Distinguish between partial *rr?o=u
multiple correlation with exarnples. Fit a
second. degree parabola of the form
Y =a.*bx+ex.2, where a" b aad c are
constants.

0 lwffiqlu{ ft? ktr Fn-< o-Er eflacY{
<il:TJI T<t I i*4=s
W1lat is an index number? Explain
its various nnethods of constructiosl.

ft, IreTw oh 6q-q rsqs &E fre <{ qrT
$qq ft& <{ sqff ffr?rfi sEr qr+ Frq-se

Sq'r q-rs qgftqfr-4ls bemq s$ I 6
Explain the fixed base and the
chafu: base r:nefhods of. e.onstru.ction
f lndex nurnbers and state their

raerirs a-nd dermes.its.
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(b)

te)
qarq / or

***

(i/ g{Iq T-<1 fi frRr<< n-de' T{{ R'Rss"Eef

"rftm qr+ <q ftffiE+<q "lAwt qe?

5
{t(< |

Prove that Fisher's index number

satisfres both time reversal test and

factor reversai test'

/iil BflFIsF 1<i F<+ s6=l T<r ftEs

qtecg< ftr-s eri<iu-+t T-<t t

Disculs the different methods,lf

construction of consumer Prrce

index number'

6

24P-6AAl4g6
1 SEM FYUGP MINSTS1

L

il


